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Physical Chemistry_Chpt_One_Properties of Gases @4

University of Mustansiriyah 1%t Semester-2021
Department of Chemistry 1%t Exam-paper C
Q1: Circle the right answer for all of the following: (50 points)

1: if a gas has polar particles then the dlfference between the volume of this gas is: :
Answer: a) VReal > VPerfect Real < VPerfec% Q VReal = Vperfect d) Vigeal # Vperfect
c;"‘pv“/( g 2 AP, SC_ \ L A %
2: Agas occuples 60 x 10° mL at 150 °C and 760 m ressure. What would be its volume at STP?
Answer:  ()B8.7 mb/ b) 38.7 dm* (&) 387U 5 d)38.7dm?3 _~
A

=
3: Calculate the weight of H20 gas (‘lsg mol 1) ina5Lcylinderat 10x 10? kP
Answer:  a)29.40gmol* §JR9.40g c) 29.40 mol  d) 29.40 kg

% ,f::
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4: Calculate the density of H20 placed in a 22400 mL cylinder at 10° Paand 0 °C. ( ;/5;
Answer;  3)0.804 kgL @o 804gLt c)0.804 g d) 0.804 L1~
\_//)V.)":" (3\/5 J}’w Lmj

5: According to Graham’s law the heaviest gas is?

Answer: a) H20 b) CHs @% d) Clz 9,'
J

é’lf tank contains a certain amount of gas at 105 Pa. The gas is transferred to another tank 40 dm? with pressure
of 200 x 10 103 Pa. What should be its volume? V1 - ¢ e

/
Answer: @800~ b)goPal . q)80Pa dm3 >/> ~d)soL?
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7: According to Boyle’s law the pressure of a gas is mversly proportlonal w;th?
Answer: a)p @Z \,c) R d)V e)n e )
T o 7 o220 M Vo, oes ’bl\ 3\
8: The difference between real and :deal gas that the real gas interested in? {(D \
Answer: a)vV&p b)V&T Q@ < d)T& <
9: It can follow the direct proportional between temperature and pressure through the law of e

Answer: a) Van der Waal b) Graham ¢) Charles
< La. e £ WJ\ L5 D,

10: The behaviour of real gas is ldeal hen value on is equal to
Answer: a) Wk Vo, €) Vm = Vo ) Vi # Vo

A1 \ \
Q2: The following data have been observed for 800 g of nitrogen gas a_t__Z,ZB.K- Calculate the best value of the
‘molar mass of N,. | p/10°Pa | 0.750 0.500 0.200 | (25 points)
V/dm? 3.0 4.5 7.0
L}C4)\_é ol )/-UM 2{)) -})\ Y \/¢

Q3: A perfect gas undergoes i)sothermal compression, which reduces |§ volume by 1.80 dm?3. The psand Vs of
S\ b S

the gas are 2,-;5102 kPa and 2.14 dm3, respectively. Calculate the poriginai of the gas in (i) bar, (ii) torr. (25 points)
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